Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300004 Date: 28- 05-2015
Subject Name: Engineering Physics

Time: 10:30 AM TO 12:00 PM Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumption wherever necessary.

3. Each question is of 1 mark.

4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5

. English version is authentic.

No. Question Text and Option. U$l ¥al Qs
What is the number of significant figures in 0.780x10° ?

. A 2 B. 4
C. 3 D. 6
0.780x10°HL A5 isloll Avall decll B2
LA 2 B. 4
C. 3 D. 6
The SI unit for is ampere.
2. A. luminous intensity B electric current
C. Power D. electric voltage
ol Sl AsH AMVAR B,
. A oA dlycl B.  @ygdyae
C. war D. (Agd RAQHLet
Accuracy is defined as:
A. A measure of how often an B.  The closeness of a measured value to
3 experimental value can be the real value.
) repeated.
C.  The number of significant D. None of these
figures used in a measurement.
ALssUY AeA
A yaBLs Bud decll aud B. yBls Bud A all (Bucsll
3. Rdle s ® A $2cll ols © A
Coquuotui ¥ctl wds 2181l D Guiidl 8¢ uwL «18l
vl
Pa is the symbol for pascal, which is the SI unit for
4. A. pressure B.  Capacitance

C. electric charge D. Force
¥, Paulsclo(l osll B, ® ol AsH B,



10.

0.

A golal B, 30flesu

C. (Aweur D.  an

Every measurement consists of a number and a

A. Decimal B.  Standard

C. exponent D. Unit

E5 HIUol Judl A uRd B.

A galial B. ol

C. aud D. sy

The surface tension of a liquid is 70 dyne/cm. In MKS system its value is?
A.  7x10”N/m B. 70N/m

C. 7x10°N/m D. 7 x10°N/m

A5 Yallélo] Yol 70 dyne/cm®. MKS Ue(Qul doll (5ud g aua?

A.  7x10%N/m B. 70N/m

C. 7x10*N/m D. 8 x10°N/m
Light year is a unit of

A. time B. Distance

C. sunlight intensity D. Mass

yslatay ol AsH BD.

A yu B. R

C. yustaell Qo D. gcuulet

Which of the following instrument is more appropriate to measure thickness of
aluminium sheet?

A. Scale B.  Meter tape

C.  Vernier Callipers D.  Micrometer screw
AR RA2aMatl UdRLell 2sstes Hiual W2 ol AotiHiell 53 Altlet dy 200 B?
A geudl B.  fle: 2u

C. allar 3Aud Do wgsiMer g

1 newton = dyne

A 10° B. 10°

c. 107 D. 10°

loJeat = _ SlEfel

A 10° B. 10°

c. 107 D. 10°

The fraction 1/273.16 of the thermodynamic temperature of the triple point of water is
known as

A. Volt B. Mole

C. Kelvin D. Candela

UQlott RUud WSeell dAlUMlotoll 1/273.16 HL @ldlal AHstaAA@Ss HIUsH
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Y.

15.
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R seclHl ulad V.

A cliee B. Qe

C. 3(cAat D ¥dau
Which of the following is dimensionally correct formula?
A. V=u+tat B. vtu=at
C. V/u=at D. vt=u-a

ol ActiMlo] 59 Yot ALY B 2

A. V=u+tat B. vtu=at

C. V/u=at D. vt=u-a

If an object speeds up from 20m/s to 100m/s in 4s, what is its acceleration?
A, 20ms® B. 200 nvs®

C. 25m/s’ D. 25m/s’

A5 UELdoll Aol 4 ASeSHL 20m/s Al 100m/sUl2L B. Aol AL $2cll U?

A, 20 m/s’ B. 200 m/s’

C. 25m/s’ D. 25m/s’

A force of acts when solid surfaces slide (or tend to slide) across each
other.

A. Deceleration B.  Acceleration

C.  Friction D. Weight

2R ol UELHoll AUl Asollast UR Ascl Slat (AUeall ARsclle] aAABl
wRladl dlal ) IR A A YUElRA aA oloL ALl

A yldyaoat B.  yaol

C. udy D. oot

A 10.0 kg dog chasing a rabbit north at 6.0 m/s has a momentum of

A. 0.6 kgem/snorth B.  60.0 kgem/s north

C. 60.0 m/s south D.  60.0 kg/s south

10.0kg $cMlol URlcAA A5 A A5 UACUL 6.0 m/s oll A2l Ul 52
8...Ae] AdHLet Ul

A 0.6 kgem/sGlR B. " 60.0 kgem/s G<lR

C. 60.0 m/s (@l D. 60.0 kg/s €@l

The law that states that every object maintains constant velocity unless acted on by an
external force is

A. Newton’s first law of motion B. Newton’s second law of motion
C. Newton’s third law of motion D. the law of conservation of
momentum

ol Yl UELL UR GllElH AdUSCML oll WA Ul Yl 35 Ueled WAN
Qotedl ol UG AN © L Rana 58 0.




A Reatell ool UBAl RaH B o2jeatell atfdell oflol Rt
C. eatofl aldoll sl Qa  D- Qotletetl A28l [(AAH

The SI unit of force, named for the scientist who described the relationship between
motion and force, is called the

16. A. Pasteur B.  Einstein
C. Curie D. Newton
S.L Ut[AMl el AsH , F B ool Al ol Al ol AUsURL
dooltelsell ottt Ul UMl WA &
6. A
CWaR B. wgeeleet
The total momentum of any group of objects remains the same unless acted on by
17 outside forces describes what law?
" A. Law of conservation of energy B.  Law of conservation of inertia
C. Law of conservation of velocity = D.  Law of conservation of momentum
Bl GlleAUN UMl of A Al UELUloll AHGe] A ADHIoL AU ¥ O, -
[Ra yua 8.
9. . .
A Gosl dRetlell [an B, oscclotl dRetelell [Ran
C. Qolell drawlell [Qan D. Qotdletell dRetalell [
Which of the following units is used to measure acceleration in free fall?
18. A, m/s B. ms5s’
C. mxs D. m’xs’
ol ALYl 52 Y5l Ucol WHAL UELZall YAdlell AsH B ?
W A mss B. /s’
C. mxs D. m’xs’
Newton’s second law gives value of
19. A. Inertia B.  Acceleration
C. Force D. Momentum
of2otall olosl (Aaun o YeU WA B
. A sl B yaal
C wn D. Qotsat
The tendency of an object to resist change in its state - this is known as
20. A. Elasticity B. Momentum
C. [Inertia D.  Viscosity
UEldo] Wdllell wciRall dedclall [QAYU $? dal dcilal 5& 9.
0. A RA(Rawusdl B Qouat
C. sl D, Relouctl
Attractive force between like molecules is knows as
21. A. Cohesive force B.  Adhesive force

C.  Surface tension D.  Friction force
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UHLol YslRall AURRAL A ALl usHRL 58 ©

A Rl aa B i v

C. ywawl D udg aa

The ratio of tangential stress to shearing strains within elastic limits is called:
A. Young’s modulus B.  bulk modulus

C. modulus of rigidity D. Poisson ratio

RA[AReUs ALl seul, uallal Yldun wal 2uisR [QglAetl o[l
58 9.

A 2ol lsyey B.  se RAlAReUUSAL s

Co sk RAlRRatusAL »is D Qoo 982

The height to which a liquid rises in a capillary tube does not depend upon

A. acceleration due to gravity B.  angle of contact of the liquid
C.  density of the liquid D.  Atmospheric pressure
Saletollul yaudlell e UR AR Auicl el

A 9J3ect YAl B yauglal audlsial

C. yadlell dotdl D cldiarule gougt

One end of a towel dips into a bucket full of water and the other and hangs over the
bucket. It is found that after some time the entire towel becomes wet. It happens
because:-

A. of gravitational force B.  viscosity of water is high
C. of'the capillary action of cotton ~ D.  of evaporation of water
threads

wRllell 9Ale R SlAHl 2lddal As B goltsdl Aa oflsl BSL Slctell
R Ul olslR AUl wRUA B ¥ sl UHAHL AUl 1A elloll U A B.

Ax gl 5101 8.

A ozcausyel oo B yallell Raloudl duR ®

C. fedell ElRlell Susvalell D yuellett oitsfletcototl 512090
5120

With the rise of temperature, generally the viscosity of fluid:

A. Increases B. Decreases

C. Increasesinitially and then D. Remains constant
decreases

dluMietHl at gatedl, e A dretell Ralotudl

A gl ® B. w2 ®

Co o3l A ® wa ufl a2 D uun 1@ B
R

The fluid velocity at which stream line flow just changes into turbulent flow is called
the:
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A. linear velocity B.  terminal velocity

C. critical velocity D. relative velocity

% R A2 UR Rl dsete] 3UIAR Ygjod dgetHl AldA dal 58 9.
A M Aot B.  2(letdt Aot

C. sil@ Qo D. e Qo

When velocity of fluid remains constant at each point of the fluid, it is known as

A. Steady flow B.  Laminar flow

C.  Turbulent flow D.  Viscosity

ARA cdetHl €35 (Glg WA dREell AL AUUN ¥ 8l Al Aell cUgelat
5& 9.

Al dget B, ddlat dget

C. ygodl cset D.  Raoudl

The height through which a liquid rises in a capillary depends upon
A.  Surface tension of the liquid and B.  Surface tension, density of the liquid

the radius of the capillary and radius of the capillary

C.  Surface tension only D.  Surface tension and density of the
liquid

gatotollul yauglell Qe UR AR AW B,

Ayl Yoy, daoflel B yaidle ywaig, yatélell ustcl

Resaul U Faatulloll B2l

C. g5 yadle] Yyl D yagle ywagl ual yauélodl
Yalcll

Stokes law is applicable if body has shape

A. Rough B.  Square

C. Conical D.  Spherical

Rsoll [an ULSRell UELL M2 % Ao Ul asla

A wRuUsL B. Ry

C. Ql§ D. slou

Unit of surface tension is

A. N/m B. N.m

C. N/m’ D. w/N

Yool AsH 8.

A. N/m B. Nm

C. Nm’ D. mN

Rain drops are spherical in shape because of

A.  Surface tension B.  Capillaryaction

C. Downward motion D.  Acceleration due to gravity

cRULEA Zlul dNousR Sl slal 0.
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A Ywdlil B. Jausval

C. ol D o)3cayaal

An objects regains its original position after the removal of external force , it is

known as

A.  Deforming force B.  Elasticity

C. Plasticity D.  Strain

GlEL ool €2 5l Ueld Wdlell Y RAMA Yoyt 831 A A dJeia
58 B.

A (A3us v B, RA(QRauusdl

C uRAlQrauusdl D. (asld

Unit of stress is same as unit of

A.  Pressure B.  Work

C. Momentum D. Force

ylAunell AsH A oll VWsH UMlel B.

A golal B, gel

C. Qoudlst D wn

Within the elastic limit of the material, the stress developed is directly proportional to

the corresponding strain produced in the object — this is known as
A.  Stock’s law B. Laplace’s law
C. Hooke’s law D. Newton’s law

RA[QRaUuUs ALl Hale], ueldl Geurt adl [@QslA Aal wej3u Geatacl

YA oll AHYHIRHL SlA B — A 58 .
A Rlsell [an B clwctiell Qan
C. gsoll Ran D. " eatall Qaun
When Reynold’s number is less than 2000, the flow of the fluid is
A. Steady flow B. Laminar flow

C. Linear flow D.  Turbulent flow
alles viso] Yt 2000 Ul A Sl |, dReAg] cget

A uRll aget B addlal aset

€ fla qget D. ygjou cget
Unit of strain is

A. N/m’ B. N/m

C. Nounit D. Nxm

@QslQal AsK .

A, N/m’ B. N/m

C. QSH Q@(‘l D. Nxm

Flow of water coming out from waterfall is an example of
A. Steady flow B. Laminar flow



C. Linear flow D.  Turbulent flow

el usq well of GELSR0L B.

ARl aget B, addlal aset

C. Al cget D ygert aget

The ratio of change in dimension to the original dimension is known as

A. Strain B.  Stress

C. Restoring force D. Elasticity

Ueledoll URHIGML AUl 38R Aol Y URHIGLell 2J3llciRal 58 B.
A [asla B yldua

C. Yelralus v D RafQrauusdt

In the longitudinal waves, the direction of vibration in medium of particle is
A. Perpendicular to propagation of  B.  Parallel to propagation

wave

C. Different from each other D.  Variable for time to time.

Aol AR0UHI, 58Nl $Uotoll (22U RURS

A 200 yuReL [Raual du B. 2oL yaRal (Balal yMidR

C. Asullenell el D. g alecldl

Which of the following statements is wrong

A.  Sound travels in a straight line B.  Sound travels as waves

C. Sound is a form of energy D.  Sound travels faster in vacuum that

then in air

o(lAsttHtell 53y @Qulet WIg & ?

A el Al dvuHi @ 52 ® B el 200 a3 ol 52 ®

C. ol A Gosloj a3u B D tafal sal scll gYouasiatil au
»sul ald s 8.

The relation between frequency n, wavelength A and velocity v of a wave is

A. n=v\h B.  v=nA\
C. A D. 1
M=— Nne—
v v
dRalell AR n, dAROIEAUE Amal AL v A6 Aol 8.
A. n=vA B.  v=nA
C. r D. L
Nu— MNu—
v L
Audible waves have a frequency
A.  0-10,000 Hz B. 20 Hz-10,000 Hz
C. 20Hz-20kHz D. 20Hz-40kHz
sted tellelefl vug gl B,
A.  0-10,000 Hz B.  20Hz-10,000 Hz

C. 20Hz-20KkHz D. 20Hz-40kHz
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A body in produces sound.

A. Rotation B.  Oscillation
C. Circular motion D. Linear motion
5l Ueld el Gaud 52 B,
A YRanal B. $uq
C. adaa@ Do 3w ald
An astronaut can’t hear his companion at the surface of the moon because
A.  Produced frequencies are B.  Temperature is too low during night
abovethe radio frequencies and too high during day moon
C.  There is no medium for sound D. None of above

propagationon moon

Aaoll AWl UR As wastaUl Aot welloll wees Aietoll asdl el stel

5

A Gaudt dcdl g ASA B 2As UR cdtuntet AR €12t vol
g aurR Yol da ® ALY A (Ect €R12Uet Yol AR

¥ B

C. talaott YAURRL HER A% UR D GUrHLe] As UL «18l

HeAH 8l atell
Ultrasonic waves are
A. Audible B. Infrasonic
C. Light waves D. Not audible
AURIARAS 00 .
A e B gosl2llols
C. yslattl dRal D usie
Value of co-efficient of absorptivity of sound is maximum for
A.  Open window B.  Heavy carpet
C. Heavy curtain D. Audience
el QMR Bise] Yeau 2 Al ay sl B.
A yeell widl B. R side
C. e usel D gl
Which of these materials has the lowest thermal conductivity ?
A. air B.  mild steel
C. water D. Titanium
ol Aottmtell saul ugldoll Gulauesdl Wl Al B2
A sl B o et
C. yall D. QRan

When heat is transferred from one particle of hot body to another by actual motion of



¥C.

49.
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50.

Yo.

51.
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the heated particles, it is referred to as heat transfer by
A.  Conduction B.  Convection

C. Radiation D. conduction and convection

%2R G¥Hlo] clgat JRM UACL W5 Y gl oflest e Yell, ALl ould
glRL UL Aa 58 9.

A GwHLcget B, Guletalet

C. Gwu3eal D Guldset wal Gulotlet
Heat transfer in liquid and gases takes place by

A.  Conduction B.  Convection

C. Radiation D.  conduction and convection
Yaldl wal cllgHl Gulej clgal ad a9,

A GwHLcget B, Guletalet

C. Guulalszeal D. Gudset ol GBHLlel
Emissivity of a white polished body in comparison to a black body is

A.  Higher B. Lower

C. depends upon the shape of body D. Same

U3 ANSAl Ueloll Guialssdl stow Uelelo{l ARuuHRH s B.
A dulR B. ¢l

C. yeldotl 2812 UR AUlRdd D duat

All radiations in a black body are
A. Reflected B.  Refracted

C. Absorbed D. Transmitted

slow WELY UR Ul Al vl o (Al5200
A yrialdd aa 8 B. asled aa &
C. mal aa ® D yur ae s ®

According to Stefan-Boltzmann law, ideal radiators emit radiant energy at a rate
proportional to
A.  absolute temperature B.  fourth power of absolute temperature

C.  fourth power of temperature D.  square of temperature

Bl got-o0coHlot A YA, AEN GRSl Gl 53¢t Gt
oll UHYHIRMHL sl &
A (ARUEl dluMlet B. [d0&l dtuletetl Adeld



C. dAluntetoll uAquld D. qiudltetett adl
The air in a hair dryer is heated by

53 A. convection B.  Conduction
C. radiation D. Insulation
32 slaRell sal add olRH U B,
uz. A Guleladt B.  Gwagat
C. Gwa(szal D. Guwy ucss
Thermal conductivity of solid metals with rise in temperature normally
A. increases B.  Decreases
>4 C. remains constant D. may increase or decrease depending on
temperature
tlol Ueldloll GuLAES Al , AlUMleHL drUIRL U AHLA A
A adll B B. w2 ®
Yo VAN WD B Do usiet uR R 1l a)
AUl Y.
Which of the following behaves as completely black body?
55. A. Green leaf B.  Black board
C.  Sphere of iron D.  Suit of lamp
olA Ul sl ueled Alell stow ueld a3y ad & 2
ua. A dld wet B Qs oll$
C. Auisal alal D glawsll A2l
Heat flows from one body to other when they have
s, A. different heat contents B.  different specific heat
C. different atomic structure D. different temperatures
Gul As Ueld ol oflet UELd AR dé © AR Aulell 0.
ug., A Gl AARAADL A B. (Qflee Gw wctol sla
C. ugRYUsll AL sl Do quuntet 21caL 8l
Size of nano particles lies between nm.
57. A 100t01000 B. 0.11010
C. 1to100 D oltol
AallsBle] SE nm <A Sl ©.
w9, A 100¢l 1000 B. o1el 10
C. 1l 100 D orell 1

58.  Who gave true definition of Nanotechnology for the first time?
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A. Rechard P. Feinmann B. Eric Drexler

C. Rechard E. Smolley D.  Bukminister Fuller

Aol sollclloll URA cautvaul Al yaH s1d qudl?

A R Ul 38aa B, qRs ysucRR

C Raus . A D wsMbier g2

With which apparatus/instrument molecules can be arranged in a desired manner?
A. Optical Microscope B.  Electron Microscope

C.  Scanning Tunnelling Microscope D.  Screening tune Microscope
sl YslRall GusL/Alustl gl olcll Ila alscll asta B?

A ysi@al Higss\u B, gQAsilel HIESSRS\U
C. Bllol 2etldot Es1REU D. &t eyet HIESs1R8\U

In which phenomenon of light, white light is divided into its seven composite colours?

A. Refraction B. Interference

C. Reflection D. Dispersion

yslaloll 58 ol gl Ad Uslale] AUld ues 1AM [Qeueet s 8?
A agledet B.  cufds:wL

C. wrtadet D [Aeussst

In the formation of Rainbow, which of the following property of light is not
responsible?

A. Reflection B.  Absorption

C. Refraction D. Dispersion

Neltuojtiol AU Ystatell s85 deatl ol el o1ell?

A Yrladd B. slwg

C. asletad D ([Qeuest

Which of the following has the highest refractive index?

A. Diamond B.  Water

C. Glass D.  Pearl

ol Astiiuell sloll asletcietis Al ay &?

A g B.yull

C s D AQdl

Superposition of waves over each other is known as

A. Diffraction B.  Polarization

C. Interference D. Refraction

Yslaloll dA200ell Asollost URetl duilds0ta 58 O.
A Qadat B ydletaet

C. cldsqw D. agletast

Due to of light, illusion of mirages is experienced.

A. Dispersion B.  Polarization

C. Refraction D. Total internal refraction of light
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Yslalsll oll teollal Al 13RSI Yo ) ol eHel aA B.

A (Qeueyet B.  ydletaet
C. aslecet D ysiale] widRs uRddst
B -rays have charge.
A. Positive B.  Negative
C. Neutral D. +2 positive
B - 560 QeseuR wRld B
A Yot B. wg
C e D4 2 wet
o - rays are nucleus of .
A. Hydrogen B.  Oxygen
C. Carbon D. Helium
o - 500 A cecloll JEAUA B
A el Rl B itslloget
C. sielol D FlAan

is unit of radioactivity.
A. Rontgen B. Henry
C. Curie D. Joule

A A2 ARQEA AsH B,
A Qoet B gl
C. gf® D. xd
There are neutrons in Uranium 92U238 .
A 92 B. 146
C. 238 D. 330
YRAAU U Ul ¥ oylatoll vl 8.
A 92 B. 146
C. 238 D. 330
Ratio of atoms disintegrating per unit time to the present atoms is known as
A. Decay constant B.  Disintegration rate
C. Average life time D. Halflife
AsH AHAHL ([Queot UHAL URHMIRRA Wl 8l% WAL URHIRletl Q1R

58 B.

g [ldls B.  [duedt €2
C w2 ot sL01 D. NQ@QO‘lSl(ﬂ.
is useful for the preservation of food, meat, fishes, eggs and vegetables.
o - rays B. B - rays

C. Yy - rays D. x. rays
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